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Math 595 Quiz 10 Fall 2005 Name

1) Suppose that Y, ..., Y, are iid logistic(f, 1) with pdf

exp (—(y — 0))

V) = o+ exp (-7 — )P

where and y and 6 are real.

a) I1(6) = 1/3 and the family is regular so the “standard limit theorem” for the MLE
b, holds Usmg thls standard theorem, what is the limiting distribution of 1/7(f, —6)?
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b) Find the limiting distribution of v/n(Y, — ).
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c) Find the limiting distribution of \/n(MED(n) —6). - * i
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d) Consider the estimators 6,, ¥, and MED(n). Which is the best estimator and
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